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dqy iz’uksa dh la[;k % 26 dqy i`"Bksa dh la[;k % 12 

Total No. of Questions: 26  Total No. of Pages: 12 

gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017    
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fo"k; %fo"k; %fo"k; %fo"k; % cgh[kkrkcgh[kkrkcgh[kkrkcgh[kkrk    ,oa ys[kkdeZ,oa ys[kkdeZ,oa ys[kkdeZ,oa ys[kkdeZ    

Subject: BOOK KEEPING & ACCOUNTANCY 

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours   Maximum Marks : 100 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        

    ¼1½¼1½¼1½¼1½    lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    
 ¼2½¼2½¼2½¼2½    iz’u Øiz’u Øiz’u Øiz’u Ø----    1 ls 5 rd oLr1 ls 5 rd oLr1 ls 5 rd oLr1 ls 5 rd oLrqqqqfu"B iz’u gSaA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSAfu"B iz’u gSaA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSAfu"B iz’u gSaA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSAfu"B iz’u gSaA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA    
    ¼3½¼3½¼3½¼3½    iz’u Øiz’u Øiz’u Øiz’u Ø----    6 ls 26 rd vkarfjd fodYi fn, x, gSaA6 ls 26 rd vkarfjd fodYi fn, x, gSaA6 ls 26 rd vkarfjd fodYi fn, x, gSaA6 ls 26 rd vkarfjd fodYi fn, x, gSaA    
    ¼4½¼4½¼4½¼4½    iz’u Øiz’u Øiz’u Øiz’u Ø----    6 ls 10 vfr y?kqmŸkjh; i6 ls 10 vfr y?kqmŸkjh; i6 ls 10 vfr y?kqmŸkjh; i6 ls 10 vfr y?kqmŸkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaaA 'kCn z’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaaA 'kCn z’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaaA 'kCn z’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSaaA 'kCn 

lhek 25 'kCn gSAlhek 25 'kCn gSAlhek 25 'kCn gSAlhek 25 'kCn gSA    
    ¼5½¼5½¼5½¼5½    iz’u Øiz’u Øiz’u Øiz’u Ø----    11 ls 14 11 ls 14 11 ls 14 11 ls 14 rd rd rd rd y?kqmŸkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZfjr gSaaA y?kqmŸkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZfjr gSaaA y?kqmŸkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZfjr gSaaA y?kqmŸkjh; iz’u gSaA izR;sd ds fy, 3 vad fu/kkZfjr gSaaA 

'kCn lhek 60 'kCn gSA'kCn lhek 60 'kCn gSA'kCn lhek 60 'kCn gSA'kCn lhek 60 'kCn gSA    
    ¼6½¼6½¼6½¼6½    iz’u Øiz’u Øiz’u Øiz’u Ø----    15 ls 21 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 415 ls 21 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 415 ls 21 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 415 ls 21 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 4    vad fu/kkZfjr gSaaA vad fu/kkZfjr gSaaA vad fu/kkZfjr gSaaA vad fu/kkZfjr gSaaA 

'k'k'k'kCn lhek 100Cn lhek 100Cn lhek 100Cn lhek 100    'kCn gSA'kCn gSA'kCn gSA'kCn gSA    
    ¼7½¼7½¼7½¼7½    iz’u Øiz’u Øiz’u Øiz’u Ø----    22 ls 26 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 5 vad fu/kkZfjr gSaaA 22 ls 26 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 5 vad fu/kkZfjr gSaaA 22 ls 26 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 5 vad fu/kkZfjr gSaaA 22 ls 26 rd nh?kZmŸkjh; iz’u gSaA izR;sd ds fy, 5 vad fu/kkZfjr gSaaA 

'kCn lhek 120 'kCn gSA'kCn lhek 120 'kCn gSA'kCn lhek 120 'kCn gSA'kCn lhek 120 'kCn gSA         
INSTRUCTIONS: - 

 (i) All questions are compulsory.  

 (ii) Q No 1 to 5 are objective type questions, each question carry 1 mark. 

 (iii) Internal choice is given in question No 6 to 26. 

 (iv) Q. No 6 to 10 are very short answer type questions, each carries 2 marks, word 

limit 25 words. 

 (v) Q. No 11 to 14 are short answer type questions, each carries 3 marks, word 

limit 60 words. 

 (vi) Q. No 15 to 21 are long answer type questions, each carries 4 marks, word limit 

100 words. 

 (vii) Q. No 22 to 26 are long answer type questions, each carries 5 marks, word limit 

120 words. 
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iz-1 fjDr LFkkuksa dh iwfrZ dhft,&         ¼¼¼¼1111××××5555====5555½½½½ 

 Fill in the blanks- 

 (i) lkekU; gkfu ------------------------------------------------------------------------------------------------------dkj.kksa ls gksrh gSA 

  Normal losses take place due to …………………………..……………………..reasons. 

 (ii) izsf"kr oLrq [kkrs dks -------------------------------------------------------------------------eas gLrkafjr fd;k tkrk gSA 

 Goods sent on consignment account is transferred to the …………………..…… 

…………………..…………. account . 

 (iii) lk>snkjh dk tUe ----------------------------------------------------------------------------------------------------------ls gksrk gSA 

  The partnership originates with ………………………………………………………… 

 (iv) lk>snkj dk u;k Hkkx&iqjkuk Hkkx =  ----------------------------------------------------------------------------------------- 

  New ratio of partner – old ratio =…… ………………………..………………………….. 

 (v) lEifŸk;ksa ls olwyh ij gksus okyk O;; ------------------------------------------dks pktZ fd;k tkrk gSA 

  Expenses incurred on realisation of assets are charged to ……………………… A/c. 

iz-2 ,d 'kCn@okD; esa mŸkj nhft,&         ¼¼¼¼1111××××5555====5555½½½½ 

 Answer in a word/sentence- 

 (i) izsf"kr eky dh gkfu fdlds }kjk ogu dh tkrh gS\ 

  By whom the loss of consigned goods is borne? 

 (ii) lk>snkjh esa U;wure fdrus lnL; gksuk vfuok;Z gS\  

  Minimum member  required in partnership firm are? 

 (iii) [;kfr ds ewY;kadu dk vk/kkj D;k gS\ 

  What is the basis of valuation of goodwill? 

 (iv) D;k lk>snkjh dk vUr U;k;ky; ds gLo{ksi ds cxSj gks ldrk gS\ 

  Can a partnership be dissolved without intervention of the Court?  

 (v) _.k i= /kkfj;ksa dks D;k izkIr gksrk gSA 

  What do debenture holders receive? 
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iz-3 lR;@vlR; esa mŸkj nhft,&         ¼¼¼¼1111××××5555====5555½½½½ 

 Answer the following in True or False - 

 (i) izs"kd izs"k.kh dks deh’ku uxnh esa nsrk gSA 

  Consigner pays commission to consignee in cash. 

 (ii) lk>snkjh QeZ dk iath;u vfuok;Z ugha gSA  

  Registration of partnership is not compulsory.  

 (iii) [;kfr ,d ewrZ lEifRr gSA 

  Goodwill is a tangible asset. 

 (iv) ykHk izkfIr dk va’k R;kxh lk>snkj ds ykHkkuqikr dk va’k gSA  

  Gaining ratio is a part of ratio of sacrificing partner.  

 (v) ca/kd _.ki= lqjf{kr _.ki= dgykrs gSaA 

  Mortgaged debenture are called secured debenture. 

iz-4 lgh fodYi pqfu,&  ¼¼¼¼1111××××5555====5555½½½½    

 Choose the correct answer- 

 (i) izs"k.kh dks ifj’kks/k deh’ku izkIr gksrk gS& 

  ¼v½ ykxr ewY; ij   ¼c½ chtd ewY; ij 

  ¼l½ dqy foØ; ij   ¼n½ m/kkj foØ; ij 

  Del-credere commission is received by consignee-   

  (A) On cost price   (B) On invoice price 

  (C) On total sales   (D) On credit sales  
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 (ii) lk>snkjh lays[k ds vHkko esa iw¡th ij C;kt fn;k tkrk gS& 

  ¼v½ 10%  PA    ¼c½ 9% PA 

  ¼l½ 6% PA    ¼n½ fdlh Hkh nj ls ugha 

  In the absence of partnership deed, the interest on capital is given at -   

  (A) 10% PA    (B) 9% PA 

  (C) 6% PA    (D) Pay no rate   

 (iii) v vkSj c 3 % 1 ds vuqikr esa ykHk gkfu ckaVrs gSa o l dks 
4

1  Hkkx ds fy, lk>snkjh 

esa izos’k nsrs gSaA muds ykHk foHkktu dk vuqikr gksxk&  

  ¼v½ 10 : 2 : 4    ¼c½ 9 : 3 : 4 

  ¼l½ 8 : 3 : 5    ¼n½ 8 : 5 : 3 

  A and B share profit in the ratio of 3 : 1. They admit C in partnership for 
4

1
 share. 

Their profit sharing ratio will be-  

  (A) 10 : 2 : 4    (B) 9 : 3 : 4 

  (C) 8 : 3 : 5    (D) 8 : 5 : 3 

 (iv) QeZ ds fo?kVu ij] vforfjr ykHk o lap;ksa dks gLrkarfjr fd;k tkrk gS&  

  ¼v½ jksdM+ [kkrs esa   ¼c½ cSad [kkrs esa 

  ¼l½ lk>snkjksa ds iw¡th [kkrs esa ¼n½ ykHk&gkfu [kkrs esa 

  On the dissolution of firm, undistributed profits and reserves are transferred to-    

  (A) Cash account   (B) Bank account 

  (C) Capital account of partners (D) Profit & loss A/c 

 (v) _.k i=ksa ij C;kt ds Hkqxrku dh vof/k gS&  

  ¼v½ rhu ekg    ¼c½ N% ekg 

  ¼l½ ,d o"kZ    ¼n½ fdlh Hkh le; 

  Period of payment of interest on debentures is-    

  (A) 3 months    (B) 6 months 

  (C) I year     (D) At any time 
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iz-5 lgh tksfM+;ka+ cukb,&  ¼¼¼¼1111××××5555====5555½½½½  

 (i) ifjorZu }kjk 'kks/ku     (a) iw¡th lap; [kkrk  

 (ii) _.k i=ksa dk izhfe;e ij 'kks/ku   (b) fuorZu  

 (iii) _.k i= Hkqxrku ls ykHk    (c) vkSlr ykHk 

 (iv) QeZ ls vodk’k ysuk     (d) va’kksa esa ifjorZu 

 (v) [;kfr dk ewY;kadu     (e) dEiuh dh gkfu    

 Match the columns- 

 (i) Redemption by conversion    (a) Capital reserve A/C  

 (ii) Redemption of debentures on premium  (b) Retirement   

 (iii) Profit on redemption of debentures   (c) Average profit 

 (iv) To take leave from the firm    (d) Conversion on shares 

 (v) Valuation of goodwill     (e) Loss of company 

iz-6 _.k i= dks ifjHkkf"kr dhft,A                                        ¼2½¼2½¼2½¼2½    

 Define debenture.  

vFkokvFkokvFkokvFkok@@@@OR 

 ifjorZu’khy _.k i= D;k gS\ 

 What are convertible debentures? 

iz-7 leku vkdkj ds fooj.kksa ls D;k vk’k; gS\                                        ¼2½¼2½¼2½¼2½    

 What is meant by common size statement? 

vFkokvFkokvFkokvFkok@@@@OR 

 leku vkdkj ds fooj.kksa ds nks mís’; crkb,A 

 Write any two objectives of common size statements. 

iz-8 ys[kkadu vuqikr ls D;k vk’k; gS\                                        ¼2½¼2½¼2½¼2½    

 What is meant by Accounting Ratio? 

vFkokvFkokvFkokvFkok@@@@OR 

 'kh?kz lEifRr D;k gS\ 

 What are quick assets? 
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iz-9 lapkyu ykHk D;k gS\                                                            ¼2½¼2½¼2½¼2½    

 What is operating profit? 

vFkokvFkokvFkokvFkok@@@@OR 

 izfr va’k ykHkka’k D;k gS\ 

 What is dividend per share? 

iz-10 O;olk; esa dks"k izkfIr ds nks L=ksrksa ds uke crkb,A                                        ¼2½¼2½¼2½¼2½    

 Name two sources from which funds are obtained by business.    

vFkokvFkokvFkokvFkok@@@@OR 

 ^^jksdM+ rqY;** ls D;k vk’k; gS\  

 What is meant by “cash Equivalent”?   

iz-11 X vkSj Y lk>snkj  gS] 31 fnlEcj 2016 dks mudk fpëk fuEukuqlkj gS&                                    ¼3½¼3½¼3½¼3½    

 X and Y are partner, their position as on 31st December 2016 is as under- 

 fpëk Balance Sheet 

nkf;Ro Liabilities jkf'k 

Amount 

lEifRr;k¡ 

Assets 

jkf'k 

Amount 

ysunkj (creditor) 2750 jksdM+ (cash) 200 

iw¡th [kkrs (capital A/c)  LVkWd (stock) 1750 

X 1000 fofo/k lEifRr;k¡ 

(sundry assets) 

2650 

Y 850   

 4600  4600 

  

 LVkWd ls 1500 `izkIr gq,] fofo/k lEifRr;ksa ls 2500 `feys] ysunkjksa dks iw.kZ Hkqxrku 

fd;kA lekiu O;; 100 ` gq, olwyh [kkrk cukb,A 

 Stock realised at `1500 and `2500 realised from sundry assets. Full amount paid to 

creditors, realisation expenses are 100. Prepare realisation A /c 
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vFkokvFkokvFkokvFkok@@@@OR 

 olwyh [kkrk vkSj iquZewY;kadu [kkrs esa rhu varj crkb,A 

 Write any three difference between realisation A/c and Revaluation account. 

iz-12 QeZ ds vkdfLed lekiu dh n’kkvksa dks fyf[k,A                                                           ¼3¼3¼3¼3½½½½    

 Write the conditions of dissolution on contingencies of a firm.  

vFkokvFkokvFkokvFkok@@@@OR 

 mu [kkrksa ds uke nhft,] tks olwyh [kkrs esa LFkkukUrfjr ugha fd, tkrs gSaA 

 Name  the account which are not  transferred to the realisation A /C. 

iz-13 lerk va’k vkSj iwokZf/kdkj va’kksa esa varj crkb,A ¼dksbZ rhu½                                                          ¼3¼3¼3¼3½½½½    

 Write the difference between equity share & professional shares. (any three)  

vFkokvFkokvFkokvFkok@@@@OR 

 Hkjr fyfeVsM us 10 `okys 12000 va’k tkjh fd, ftl ij 3 `vkosnu ij] 4 ` vkcaVu 

ij] rFkk 3 `izFke ,oa vafre ;kpuk  ij ns; gSA lHkh jkf’k;k¡ le; ij izkIr gqbZA udy 

cgh izfof"V;k¡ dhft,A 

 Bharat limited issued 12000 shares at the rate of `10 each. Amount payable as `3 on 

application, `4 on allotment and `3 on first & final call. All dues received on time. Give 

journal Entries.    

iz-14 va’kksa ds gj.k dh oS/k n’kk,¡ crkb,A                                                           ¼3¼3¼3¼3½½½½    

 Mention the legal provisions regarding forfeiture of shares. 

vFkokvFkokvFkokvFkok@@@@OR 

 ,d e’khu uohu ls 45000 `esa Ø; dh] ftlds Hkqxrku gsrw 10 `okys lerk va’k tkjh 

fd,A fuxZeu leewY; ij fd;k x;kA udy cgh izfof"V;k¡ dhft,A  

 A machinery purchased from Naveen for `45000, equity share of `10 each issued at par 

for the payment of machinery.  Prepare journal entries.  
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iz-15 lk>snkjh lays[k ds vHkko esa ykxw gksus okys fu;e crkb,A                                                           ¼4¼4¼4¼4½½½½    

 Explain the rules applicable in absence of partnership deed.   

vFkokvFkokvFkokvFkok@@@@OR 

 vfuy] fot; vkSj eukst 2%2%1 ds vuqikr eas ykHk gkfu ck¡Vrs gSaA vU; lk>snkjksa us eukst 

dks vk’oklu fn;k gS fd mls de ls de `5000 ykHk vo’; feysxkA pkyw o"kZ dk 'kq) 

ykHk 20]000 `gSA ykHk gkfu fu;kstu [kkrk cukb,A 

 Anil, Vijay and Manoj are partners, sharing profit & losses in the ratio of 2:2:1, Manoj’s 

share is however guaranteed by the other partners at a minimum profit of `5000. The net 

profits for the current year amount to `20000. Prepare profit & loss appropriation A/c. 

iz-16 lafpr iw¡th vkSj iw¡th lap; esa vUrj crkb,A                                                           ¼4¼4¼4¼4½½½½    

 Explain the difference between Reserve capital & capital Reserve.    

vFkokvFkokvFkokvFkok@@@@OR 

 lquhy ds ikl 10 `okys 50 va’k Fks] ftlesa ls mlus 2 `izfr va’k vkosnu ds fn,] fdUrq 

3 `izfr va’k vkoaVu ds vkSj 5 `izfr va’k izFke ,oa vafre ;kpuk ds ugha ns ldkA mlds 

va’kks dks tCr dj fy;kA va’kkas dh tCrh dh udy izfof"V dhft,A 

 Sunil was holding 50 shares of `10 each on which he paid `2 on application per share but 

could not pay 3 `on allotment and `5 per share on first & final call. His share forfeited. 

Make journal entry for forfeiture of shares.   

iz-17 _.ki=ksa dk fuxZeu dc fd;k tk ldrk gS\                                                           ¼4¼4¼4¼4½½½½    

 When can debentures be issued?    

vFkokvFkokvFkokvFkok@@@@OR 

 ftUny fy- us `10000] 10% _.ki=] izR;sd 100 `ds tkjh fd,] ftl ij lEiw.kZ jkf’k 

vkosnu ij ns; FkhA lHkh _.ki=ksa ds fy, vkosnu izkIr gq,A udy cgh izfof"V;k¡ dhft,A 

 Jindal Ltd issued `10000, 10% debenture of `100 each, whole amount was payable on 

application. The issue was fully subscribed. Pass necessary journal entries.    

iz-18 va’k ,oa _.ki= esa varj Li"V dhft,A ¼dksbZ pkj½                                                           ¼4¼4¼4¼4½½½½    

 Make differences between shares and debentures. (any four)    
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vFkokvFkokvFkokvFkok@@@@OR 

 ,d dEiuh us `10000] 12% _.ki= izR;sd 100 `dk leewY; ij tkjh fd, ftudk 

'kks/ku 10% izhfe;e ij fd;k tkuk gSA 'kks/ku ds le; gsrq udy cgh izfof"V;k¡ nhft,A  

 A Company issued `10000, 12% debenture @ `100 each at par, redeemable at 10% 

premium. Record these transactions in the journal of the company at the time of 

redemption.  

iz-19 foŸkh; fooj.k ds fo’ys"k.k dh lhek,a crkb,A                                                           ¼4¼4¼4¼4½½½½    

 Describe in brief the limitations of financial analysis.  

vFkokvFkokvFkokvFkok@@@@OR 

 fuEu lwpukvksa ls pkyw vuqikr Kkr dhft,& 

 Calculate current ratio from the following- 

 Pkkyw lEifRr;k¡ (Current  Assets) 5]00]000 

 Pkkyw nkf;Ro (Current  liabilities) 2]50]000 

iz-20 jksdM+ izokg fooj.k cukus ds mís’; crkb,A                                                            ¼4¼4¼4¼4½½½½    

 Explain the objectives of cash flow statement. 

vFkokvFkokvFkokvFkok@@@@OR 

 fuEufyf[kr ls lapkyu lEcU/kh fØ;kvksa ls jksdM+ izzokg dh x.kuk dhft,& 

 Calculate cash flow from operating activities from the following information-  

  

 31/3/07  

` 

31/3/06 

` 

ykHk gkfu [kkrk (profit & loss A/c) 46000 56000 

izkIr foi= (Bills Receivable) 20000 30000 

vnŸk etnwjh (Outstanding wages ) 11000 18000 

[;kfr (Goodwill) 30000 26000 

iwoZnŸk chek (Prepaid Insurance) 6000 3000 

ysunkj (Creditors) 15000 22000 
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iz-21 jksdM+ izkfIr ds izeq[k L=ksr crkb,\                                                           ¼4¼4¼4¼4½½½½    

 What are the main sources of cash collection? 

vFvFvFvFkokkokkokkok@@@@OR 

 jksdM+ izokg fooj.k dh lhek,¡ crkb,A 

 Write the limitation of cash flow statement. 

iz-22 lkekU; gkfu vkSj vlkekU; gkfu esa varj crkb,A                                                           ¼5½¼5½¼5½¼5½    

 Write the difference between normal loss and abnormal loss. 

vFkokvFkokvFkokvFkok@@@@OR 

 tcyiqj ds vrqy us eqEcbZ ds fd’kksj dks 50]000 `ykxr dk eky izs"k.k ij HkstkA vrqy us 

jsy fdjk;s ds 7000 ` [kpZ fd,A fd’kksj us leLr eky 80]000 ` esa csp fn;k rFkk 

xksnke fdjk;s ls 2000` esa fn,A mls 2% orZu fn;k tkrk gSA izs"kd dh iqLrd esa izs"k.k 

[kkrk cukb,A 

 Atul of Jabalpur consigned goods worth `50,000 to Kishore of Mumbai and paid `7000 for 

Railway freight. Kishore sold all the material for `80,000 and paid `2000 for godown rent. 

2% commission is given to Kishore. Prepare consignment account in the books of 

consigner.    

iz-23 lk>snkjh dk iquxZBu fdu n’kkvksa esa gksrk gS\                                                           ¼5½¼5½¼5½¼5½    

 Under which circumstances goodwill is valued in firm?   

vFkokvFkokvFkokvFkok@@@@OR 

 v vkSj c 2%1 ds vuqikr esa ykHk gkfu ck¡Vrs gSaA 1 tuojh 2017 ls os fu.kZ; ysrs gSa fd 

Hkfo"; esa ykHk gkfu vuqikr 3%1 gksxkA bl gsrq [;kfr dk ewY;kadu 1]80]000 ` fd;kA 

vko’;d iw¡th izfof"V nhft,A  

 A & B are partner sharing profit & loss in the ratio of 2:1, with effect from 1st January 2017 

they decided to share profits in the ratio of 3:1. For this purpose the goodwill of the firm is 

valued at `1,80,000. Give the necessary journal entries.   
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iz-24 ,d QeZ esa fdu n’kkvksa eas u, lk>snkj dks izos’k fn;k tkrk gSA Li"V dhft,A                                ¼5¼5¼5¼5½½½½    

 Write the conditions of admission need of new partner.   

vFkokvFkokvFkokvFkok@@@@OR 

 vf[ky vkSj fuf[ky lk>snkj gSaaA 1 tuojh 2017 dks fuf[ky vodk’k xzg.k djrk 

gSAmldk iw¡th [kkrk ml frfFk ij leLr lek;kstukas ds ckn 35]000 `dk tek 'ks"k 

crykrk gSA ;g fuf’pr fd;k x;k fd bl jkf’k dks fuf[ky ds _.k [kkrs esa varfjr dj 

fn;k tkosA  5000 ` rqjUr fn, tkos vkSj 'ks"k jde nks leku fd’rksa es 6% izfro"kZ dh 

nj ls C;kt lfgr pqdk nh tkosA fuf[ky dk _.k [kkrk nks o"kks± ds fy, rS;kj dhft,A 

 Akhil & Nikhil are partners. On 1st January 2017 Nikhil retires from the firm. The balance of 

Nikhil’s capital A/c shows a credit balance of `35000 after all adjustments, it is decided to 

transfer this amount to his loan A/c and pay `5000 immediately and balance amount will 

be paid in two equal instalments with 6% P.A interest. Prepare loan A/c of Nikhil for two 

years.     

iz-25 cês ij va’kkas ds fuxZeu ij D;k izfrcU/k gS\                                                           ¼5¼5¼5¼5½½½½    

 What are the restrictions for issue of shares of discount?  

vFkokvFkokvFkokvFkok@@@@OR 

 iwokZf/kdkj va’kksa ds izdkj crkb,A 

 Write the types of preference shares 

iz-26 dEiuh ds fpës esa ^^lap; ,oa vkf/kD;** 'kh"kZd esa fy[kh tkus okyh enksa dks fyf[k,A                ¼5¼5¼5¼5½½½½    

 Write the items to be presented under the head of “Reserves and surplus” in balance 

sheet of company.    
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vFkokvFkokvFkokvFkok@@@@OR 

 ,d dEiuh ds fpës esa fuEufyf[kr enksa dks vki fdu fdu 'kh"kZdksa esa oxhZdj.k djsaxs& 

 (i) NksVs vkStkj   

 (ii) izfrHkwfr izhfe;e [kkrk   

 (iii) dj ds fy, vk;kstu   

 (iv) v;kfpr ykHkka’k    

 (v) [;kfr     

 How would you classify the following items in liability sides of a Company’s Balance Sheet- 

 (i) Loose Tools 

 (ii) Securities premium A/c 

 (iii) Provision for ltax 

 (iv)  Unclaimed dividend 

 (v) Goodwill 

      

------------------------------------------------ 

 


